

Ekeland's Fixed Point Theorem in Generalized Metric Spaces

By Byung Gai Kang

Seoul National University, Seoul, Korea

1. Introduction.

A *generalized metric space* is a pair (X, d) of a nonempty set X and a distance function $d : X \times X \rightarrow [0, \infty]$ satisfying

- (i) $d(x, y) = 0$ iff $x = y$,
- (ii) $d(x, y) = d(y, x)$,
- (iii) $d(x, z) \leq d(x, y) + d(y, z)$,

for all x, y, z in X . Such a space X is said to be *complete* if every Cauchy sequence in X converges.

Let X be a generalized metric space and let $CL(X)$ be the set of all nonempty closed subsets of X . For A, B in $CL(X)$, define

$$N_\varepsilon(A) = \{y \in X \mid d(x, y) < \varepsilon \text{ for some } x \in A\}, \text{ for } \varepsilon > 0.$$

$$H(A, B) = \inf \{\varepsilon > 0 \mid A \subset N_\varepsilon(B) \text{ and } B \subset N_\varepsilon(A)\}.$$

$$D(A, B) = \inf \{d(x, y) \mid x \in A, y \in B\}$$

$$\delta(A, B) = \sup \{d(x, y) \mid x \in A, y \in B\}$$

Then $(CL(X), H)$ is a generalized metric space and H is called the *Hausdorff metric* on $CL(X)$. Obviously, $D(A, B) \leq H(A, B) \leq \delta(A, B)$ for all A, B in $CL(X)$.

In 1976, Caristi proved a fixed point theorem in complete metric spaces which aroused a great deal of interest, because it does not assume the continuity of the mapping under consideration [1]. This also extends the Banach's fixed theorem. In proving this, Caristi used the transfinite induction, but Ekeland [6] proved this theorem more easily by using his variational principle [5].

In this paper, we study the Ekeland's fixed point theorem for single-valued and multi-valued functions in generalized metric spaces and reformulate our main results in [16] in Ekeland's form. These results also extend and unify some Banach type fixed point theorems. In proving this, we also follow the method of Park [15].

2. Main Theorems.

First, we begin with the following theorem of Ekeland.

Theorem 1. (Ekeland [6]) *Let X be a generalized complete metric space and $f : X \rightarrow X$ be a selfmap. Suppose there exists a function $\varphi : X \rightarrow \mathbf{R} \cup \{+\infty\} \cong \infty$ which is l.s.c. and bounded from below such that*

$$d(x, fx) + \varphi(fx) \leq \varphi(x), \text{ for all } x \text{ in } X.$$

Then f has a fixed point.

Proof. See Ekeland [6].

Theorem 2. Let X be a generalized complete metric space and $f : X \rightarrow X$ be a selfmap. Suppose that there is a function $\varphi : X \rightarrow \mathbf{R} \cup \{+\infty\} \cong \infty$, bounded from below such that

$$d(x, fx) + \varphi(fx) \leq \varphi(x) \quad (*)$$

for all x in X . Then there is an $x \in X$ such that $\{f^n x\}_{n=0}^\infty$ converges to some $\xi \in X$. Moreover, if φ is f -orbitally l.s.c. and $f\xi \in \overline{\{f^n x\}}$, then ξ is a fixed point of f .

Proof. Since $\varphi \cong \infty$, there is an $x \in X$ such that $\varphi(x) < \infty$. Then $\varphi(fx) \leq \varphi(x) < \infty$ by (*). Inductively, we see that $\varphi(f^n x) \leq \varphi(f^{n-1}x) < \infty$ for $n \geq 1$. Therefore, $\{\varphi(f^n x)\}_{n=0}^\infty$ is a real decreasing sequence, which is bounded from below. So $\{\varphi(f^n x)\}_{n=0}^\infty$ is convergent. We have

$$\begin{aligned} d(f^n x, f^{n+1}x) &\leq \varphi(f^n x) - \varphi(f^{n+1}x) \\ d(f^{n+1}x, f^{n+2}x) &\leq \varphi(f^{n+1}x) - \varphi(f^{n+2}x) \\ &\dots\dots\dots \\ &\dots\dots\dots \\ d(f^{n+p-1}x, f^{n+p}x) &\leq \varphi(f^{n+p-1}x) - \varphi(f^{n+p}x), \text{ for } n, p \geq 0. \end{aligned}$$

By adding all the above, we can see that

$$d(f^n x, f^{n+p}x) \leq \varphi(f^n x) - \varphi(f^{n+p}x).$$

Since the righthand-side of this inequality goes to 0 as n and p tend to ∞ , so does the lefthand-side. Thus $\{f^n x\}_{n=0}^\infty$ is a Cauchy sequence in X and converges to some $\xi \in X$.

Suppose further that φ is f -orbitally l.s.c. and $f\xi \in \overline{\{f^n x\}}$. Then $\varphi(\xi) \leq \liminf_{n \rightarrow \infty} \varphi(f^n x)$ implies that $\varphi(\xi) = \inf_{v \in \overline{\{f^n x\}}} \varphi(v)$. So $\varphi(\xi) \leq \varphi(f\xi)$. But by (*), $d(\xi, f\xi) + \varphi(f\xi) \leq \varphi(\xi)$ and this is possible only when $\xi = f\xi$. This completes the proof.

Remark. If φ is l.s.c. on X , then the condition $f\xi \in \overline{\{f^n x\}}$ is not needed to verify that ξ is a fixed point of f . See Theorem 2 of Ekeland [6].

Example. Let $X = [0, 1] \cup \{2\}$ and $d : X \times X \rightarrow [0, \infty]$ be defined by

$$\begin{aligned} d(x, y) &= |x - y|, \text{ if } x \neq 2, y \neq 2, \\ d(x, y) &= \infty, \text{ if } x = 2 \text{ or } y = 2. \end{aligned}$$

Then (X, d) is generalized complete metric space. Define $f : X \rightarrow X$ and $\varphi : X \rightarrow \mathbf{R} \cup \{+\infty\}$ as follows;

$$\begin{aligned} f(x) &= \begin{cases} \frac{x}{2}, & \text{if } x \neq 0 \\ 2, & \text{if } x = 0 \end{cases} \\ \varphi(x) &= \begin{cases} \frac{1}{1-x}, & \text{if } x \neq 0, 1, 2 \\ \infty, & \text{if } x = 0, 1, \text{ or } 2 \end{cases} \end{aligned}$$

Then (*) holds for all x in X , but f has no fixed point. Indeed, $\lim f^n x = 0$ for all $x \in X$, but φ is not f -orbitally l.s.c. at 0.

Theorem 3. Let X be a generalized metric space and $f : X \rightarrow CL(X)$ be a map. Suppose there is a function $\varphi : X \rightarrow \mathbf{R} \cup \{+\infty\} \cong \infty$, which is bounded from below and such that

$$\forall x \in X, \exists y_x \in fx, d(x, y_x) + \varphi(y_x) \leq \varphi(x). \quad (**)$$

Then there is an iterative sequence $\{u_n\}_{n=0}^\infty$, $u_n \in fu_{n-1}$, which converges to some $\xi \in X$. Moreover,

if φ is l.s.c. on $\overline{\{u_n\}}$ and $y_\xi \in \overline{\{u_n\}}$, then ξ is a fixed point of f , i.e. $\xi \in f\xi$.

Proof. Choose u_0 in X so that $\varphi(u_0) < \infty$. Then there is a $u_1 \in fu_0$ such that $d(u_0, u_1) + \varphi(u_1) \leq \varphi(u_0)$. Hence $\varphi(u_1) \leq \varphi(u_0) < \infty$. Inductively, we can choose a sequence $\{u_n\}_{0 \leq n}^{\infty}$ such that

$$\begin{aligned} u_n &\in fu_{n-1}, \\ \varphi(u_n) &\leq \varphi(u_{n-1}), \text{ and} \\ d(u_{n-1}, u_n) + \varphi(u_n) &\leq \varphi(u_{n-1}) \end{aligned}$$

for all $n \geq 1$. Therefore, as in the proof of theorem 2, we can see that $\{u_n\}$ converges to some $\xi \in X$. Suppose now that φ is l.s.c. on $\overline{\{u_n\}}$, then $\varphi(\xi) = \inf_{x \in \overline{\{u_n\}}} \varphi(x)$ and so $\varphi(\xi) \leq \varphi(y_\xi)$ if $y_\xi \in \overline{\{u_n\}}$.

But this is possible only when $\xi \in f\xi$.

3. Applications.

Let X be a generalized metric space and $f: X \rightarrow X$ be a selfmap. Consider the following type of contraction conditions;

(1) $d(fx, fy) \leq a_1 d(x, y)$, $0 \leq a_1 \leq 1$. Diaz and Margolis [4], Jung [11].

(2) $d(fx, fy) \leq a_1 d(x, y) + a_2 d(x, fx) + a_3 d(y, fy)$, $a_1, a_2, a_3 \geq 0$ and $a_1 + a_2 + a_3 < 1$. Reich [18].

(3) $d(fx, fy) \leq a_1 d(x, y) + a_2 d(x, fx) + a_3 d(y, fy) + a_4 [d(x, fy) + d(y, fx)]$, $a_1, a_2, a_3, a_4 \geq 0$ and $a_1 + a_2 + a_3 + 2a_4 < 1$. Iseki [18].

(4) $d(fx, fy) \leq a_1 \max \{d(x, y), d(x, fx), d(y, fy)\}, \frac{1}{2} [d(x, fy) + d(y, fx)]$, $0 \leq a_1 \leq 1$. Ćirić [2].

Clearly, (1), (2) or (3) respectively implies (4). And (4) can be reformulated in our condition in theorem 2. Indeed, if we define $\varphi(x) = \frac{1}{1-a_1} d(x, fx)$, then φ satisfies (*) and f -orbitally l.s.c. in X .

In multi-valued case, let X be a generalized complete metric space and $f: CL(X) \rightarrow X$ be a function. Consider the following conditions;

(1) $H(fx, fy) \leq a_1 d(x, y)$, $0 \leq a_1 \leq 1$. Nadler [14].

(2) $H(fx, fy) \leq a_1 D(x, fx)$, $0 \leq a_1 \leq 1$. Czerwik [3].

(3) $H(fx, fy) \leq a_1 [D(x, fx) + D(y, fy)]$, $0 \leq a_1 < \frac{1}{2}$. Kaulgud [12].

(4) $H(fx, fy) \leq a_1 d(x, y) + a_2 D(x, fx) + a_3 D(y, fy)$, $a_1, a_2, a_3 \geq 0$ and $a_1 + a_2 + a_3 < 1$. Ray [17], Reich [18].

(5) $D(y, fy) \leq a_1 d(x, y) + a_2 D(x, fx)$ for all $y \in fx$, $a_1, a_2 \geq 0$ and $a_1 + a_2 < 1$. Himmelberg [17].

(6) $H(fx, fy) \leq a_1 d(x, y) + a_2 [D(x, fx) + D(y, fy)] + a_3 [D(x, fy) + D(y, fx)]$, $a_1, a_2, a_3 \geq 0$ and $a_1 + 2a_2 + 2a_3 < 1$. Iseki [9], Itoh [10].

(7) $H(fx, fy) \leq a_1 d(x, y) + a_2 D(x, fx) + a_3 D(y, fy) + a_4 D(x, fy) + a_5 D(y, fx)$, $a_i \geq 0$ for all i and $\min \{a_1 + a_2 + a_3 + 2a_4, a_1 + a_2 + a_3 + 2a_5\} < 1$. Kita [11].

(8) $H(fx, fy) \leq a_1 \max \{d(x, y), D(x, fx), D(y, fy), \frac{1}{2} [D(x, fy) + D(y, fx)]\}$, $0 \leq a_1 \leq 1$. Ćirić [2].

Obviously, (1)-(7) respectively implies (8). We will show that (8) can be reformulated in our form. To begin with, let us see the following lemma;

Lemma. Suppose that (8) holds for all x, y in X . Then for any $x \in X$, there exists a $y_x \in fx$ and

$k > 1$ such that

$$d(x, y_x) \leq k(D(x, fx) - D(y_x, fy_x)).$$

Proof. Let $y \in fx$, then there exists $z \in fy$ such that

$$d(y, z) \leq H(fx, fy) + \frac{1-a_1}{2} D(x, fx) \quad (\text{See Nadler [14]})$$

Since $y \in fx$ and $z \in fy$, $D(x, fx) \leq d(x, y)$, $D(y, fy) \leq d(y, z)$, $D(x, fy) \leq d(x, z)$ and $D(y, fx) = 0$. Therefore by (8),

$$\begin{aligned} d(y, z) &\leq H(fx, fy) + \frac{1-a_1}{2} D(x, fx) \\ &= a_1 \max \left\{ d(x, y), d(y, z), \frac{1}{2} d(x, z) \right\} + \frac{1-a_1}{2} D(x, fx) \\ &= a_1 \max \{d(x, y), d(y, z)\} + \frac{1-a_1}{2} D(x, fx) \end{aligned}$$

If $d(y, z) \geq d(x, y)$, $d(y, z) \leq a_1 d(y, z) + \frac{1-a_1}{2} d(y, z) = \frac{1+a_1}{2} d(y, z)$. But then $x=y=z$ is in fx , since $\frac{1+a_1}{2} < 1$. Suppose $d(x, y) \geq d(y, z)$ then $d(y, z) \leq a_1 d(x, y) + \frac{1-a_1}{2} d(x, y) = \frac{1+a_1}{2} d(x, y)$. In any case, $D(y, fy) \leq d(y, z) \leq \frac{1+a_1}{2} d(x, y)$. Since y was arbitrary, we can choose y_x in fx so that $d(x, y_x) \leq \frac{a_1+3}{2a_1+2} D(x, fx)$ and $D(y_x, fy_x) \leq \frac{1+a_1}{2} d(x, y_x)$. Let $k = \frac{2(a_1+3)}{(a_1+1)(1-a_1)} > 1$, then

$$\begin{aligned} &k(D(x, fx) - D(y_x, fy_x)) \\ &\geq k\left(D(x, fx) - \frac{1+a_1}{2} d(x, y_x)\right) \\ &\geq k\left(\frac{2a_1+2}{a_1+3} d(x, y_x) - \frac{1+a_1}{2} d(x, y_x)\right) \\ &= k \cdot \frac{1}{k} d(x, y_x) = d(x, y_x). \end{aligned}$$

This completes the proof.

From this lemma, we can set $\varphi(x) = kD(x, fx)$ and this φ and y_x satisfy (**). And the fact that φ is l.s.c. on $\overline{\{u_n\}}$ in our theorem is obvious.

References

1. J. Caristi, Fixed point theorems for mappings satisfying inwardness conditions, *Trans. Amer. Math. Soc.* 215(1976) 241-251.
2. L.B. Ćirić, Fixed points for generalized multi-valued contractions, *Math. Vesnik*, 9(24) (1972), 265-272.
3. S. Czerwik, Multi-valued contraction mappings in metric spaces, *Aequationes Mathematicae*, 16 (1977) 297-302.
4. J.B. Diaz and B. Margolis, A Fixed point theorem of the alternative, for contractions on a generalized complete metric space, *Bull. Amer. Math. Soc.* 74 (1968), 305-309.
5. I. Ekeland, On the variational principle, *J. Math. Anal. and Appl.* 47(1974), 324-353.
6. I. Ekeland, Nonconvex minimization problems, *Bull. Amer. Math. Soc.* 1(3) (1979), 443-474.
7. C.J. Himmelberg et. al. Fixed point theorems for constrictive multifunctions, *Boll. U.M.I.* 4(6) (1972), 333-344.
8. K. Iseki, Fixed point theorems in generalized complete metric spaces, *Tamkang J. of Math.*

- 5(1974), 213-219.
9. K. Iseki, Multi-valued contraction mappings in complete metric spaces, *Math. Seminar Note*, 2 (1977), 247-258.
 10. S. Itoh, Multivalued generalized contractions and fixed point theorems, *Comm. Math. Univ. Carolinae*, 18(2) (1977), 247-258.
 11. C.F.K. Jung, On generalized complete spaces, *Bull. Amer. Math. Soc.* 75 (1969), 113-116.
 12. N.N. Kaulgud and D.V. Pai, Fixed point theorems for set-valued mappings, *Nieuw Arch. Wisk.* 23(3) (1975), 49-66.
 13. T. Kita, A common fixed point theorem for multivalued mappings, *Math. Japonica*, 22 (1977), 113-116.
 14. B.S.B. Nadler, Multi-valued contraction mappings, *Pacific J. of Math.* 30 (1969), 475-488.
 15. S. Park, A unified approach to contractive maps, *J. Kor. Math. Soc.* 16(2) (1980), 95-105.
 16. S. Park and B.G. Kang, On Banach type fixed point theorems in generalized complete spaces, *Proc. coll. Natur. Sci. S.N.U.* 8(1) (1983), 29-37.
 17. B.K. Ray, Some fixed point theorems, *Fund. Math.* XCII (1976), 79-90.
 18. S. Reich, Kannan's fixed point theorem, *Boll. U.M.I.* 4(4) (1971), 1-11.